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Math 11 Name ID: 1 \..‘...
e s (D) 2 (5-P)

pir h(k)= 5)-§G)
(R) = (4x-S) 3%
h(x)=4x-5-3 x4
hG)=x-4
@ h9=(549))
h(x) = $(x) £9&)
s ““‘3‘(“""%"("3”0
= x>-xE x5
® (3'3)(2‘%
e W) = () ~§LED
h(x‘)=5(zx-‘0~(-)<"- 2)
W)= 2%~Y 2% %2
h(O=x"+1x-2 |
> £
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Math 11 Name ID: 1 ‘ :
N

Add, Subtract, Multiply & Divide Functions T

Date Period
Combine f(x) and g(x) as directed. Call your new function h(x). Put h(x) in standard fom. @ h [x) - S-(x) -’8 (K
2) flx)=4x+5

1) flx)=4x-5

e Mk = (3x43)<(2x+5)
hiK)=3x43-2%x-5
hWix)=x-2

g Yatie Pl ® W)= 909 - 5(x
S = (3x-5)4(3 x’-ﬂx}
N0)=3%-5-3% +4x
> - . W)= -3+ x -5
Fod e P8 P @\n[&) = §(x) -’3&)
= (x-2)- (= +t)
hx)=x-2-x-\
=2 W)=-3

g‘\)-\'olx glx)=2x -1
Find {f = ghx) Find (/ + ghx)
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{
Math Il Name 1D: 1 ‘ 3

Add, Subtract, Multiply & Divide Functions Date Period

Ic).n::: :(:;- .:a 2(x) as directed. Call your new lul'tt:-’h(:). I:-: B(x) in standard fom. @ h (x) SCK) 1
Fo - ok Foal/ - sk S +0 (x + x)

2 2x4)~x*4x
W0 - x*-2 x4
3) glx)=2x-4 4 flx)=3x+3

Fedie 0 ol (/- ko h (;c) = §$) % 3(5)
= (-3x+D ¥ (21-1)
hi h(x)= - X

flx) = 3x" - ax gde)exs1
Find (g - /)x) Find (f - ghlx)
7 flx)=2x+1 8 flx)=-3x+1
glx) = x¥ + 4y gx)e2e-1
Find (/ = ghx) Find (f + g)x)
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dx) - 4x
Find (/- g)lx)
flx)=2x+5
glx) - 2% -
Find (/- ghx)

15) flx)=x®=3x
gx)=x-2

Flnd( ! }I'
£

Combine f(x) and g(x) as directed. Call you

r new function h(x). State any bad values for x

16) glx) = -4x+2

flx)=x-5
hnd""y.i
/

Page 4 of 6

L 4

@ 569 -9 =h(x)
(‘l@ﬂ
Y= 1o k2425 - 3
W) = 414 x*-3x

$0¢) - 906) = h(x)
(xs-Z)%Tx)-- h(x)
B (Ux'- 8x) = h(X)
DRICIE g(x) = h(x)
(2x)(x*Y4x)
25> 8x==h ()
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9) flx)=dx+2
g(,\')- v’ - 4x
Find (1 - g)lx)

1) flx) = 2x

-yt -4y
Find (/- glx)

13) f(x)=2x+5
7| .‘:

A o= -4
Find (/- ghx)

) flx)

glx) =
Find (/- ghx)
) glx) 1
fix) x=-2
Find (g fNx)

’,

® W) = 9()- 5x)
= (Qx L x-2)

22X -2x -2 5142
WY = 2 x*qx 42
B nx)= 50
hx) = (fo‘S@x}

h() = (-4s>- dy*-10 x"-lox)

@»m = -4 145 fox

h(0)= $03-5(%)

h(x): (x+ (Xz'i-g)

h() = x>+5x +x*+5
h(R) = )3+ 45% £S5
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9) flx)=dx+2 10) flx)=x’-2 %

glx) = x* - ax glx) = 4x

Find (/- ghx) Find (/- ghx)
11) flx)=2x 12) glx)=x-1

dx) =x* - ax flx)=2x-2

Find(f - gllx) Find(g- f)x)

13) ’4"',’:_2:":2, - '4“',’_'“__3'< @ m - B qx“-z“ ¢ K*S
:muu'gm' Find (/- gXo) 3Lx) x_.s ] —

-
I | -K+3 . x#)
Combine f(x) and g(x) as directed. Call your new function h(x). State any bad values for x. O S——
15) flx) = x* =3x 16) glx) = -4x+2 3“) x-' )

9 | Koo xg-Yo
§) 2R3 ]

17) flx)==x+3 18) gly) = x* - 24°
gr)mx=-1 flx)=2x+3
Fmd(i)li Fmd‘%’nl 7 2x+5: : 2x 5'3

X271

Fmd(, }I' Find
g

<
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